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12. Ifa =-§ and b =

13. If 4 tx= L then find the value of x. |
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. Write the additive inverse of the following
-6 : i B (iii) =
O = (i) = 1
Find the multiplicative inverse of the following : i
-3 -
; -12 i) —X—
G) -17 @) T (i) 57
2 1
Find five rational numbers between —= and 5
. Write three rational numbers greater than -3.
. Prove that : —3-[1] _-1-=_—1—1-.
3 \-5/] 2 30
5 -5 ;
Represent 3 and 3 on the number line.
8
By what number should we multiply w1 to get the product 327
Simplify using suitable property :
91( 2) (4) 91 ( )91
| o e | +| -
41\ 3 3/ 41 3) 41
1 2 -1 :
Kx= 7'¥=3 and z= 3 verify that, x x (y +z) = (x x y) + (x x z).

From a cord of 16 m length, two pieces of length 3% m and 2% m are cut off. Find the length of
remaining cord.
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Evaluate :

4
5 verify that &

(1) |axb|=[a]xJt] (i) |a-b> la| - o
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1. The sum of two numbers is 43. The difference is 13. Find the numbers.
2. The p;lesent ages of husband and wife are in the ratio 4 : 3. Thirty years later, the I

3. The sum of three consecutive multiples of 3 is 333. Find the multiples.

4. Solve and verify your answer : %(x+2) +4 = M+2
5. Solve: X=7-59) _7
Ix-(3+4x) 6°
6. Solve for x : 2 2 -l
5x 3x 10°
7. Find the value of g, if

10.
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1. The equation 5 * iable, for which an equaic
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,'_-~-';:7".‘i" - lanks ' o R R e SR G L L ¢
Fﬂliﬂﬂ‘eb : 8=Oi$anexa ‘on is true is calle

: 72.‘. The value of the Vaﬂof the equation-

...................................... dded to three times of itself gives 20is. ...

A number which when a :
" In a linear equation, the degree e
A number when multiplied by 4 excee si

0.4x +0.5=0.3x + 0.6, Fhem K18 susamssesgssossninassitessesass

The sum of two numbers which are in

Then the NUMDETS I€ w..cvrmmemssssnseresssrsse st
If the value of x is 5, then 3X + .cicumemsmessenensereizetttt
9. Two consecutive natural numbers whose sum is 55 are

10. The general form of linear equation is ax + b=c, where a # ...

@
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' REVIEW EXERCISE

SYears older to her. What are their present ages?
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(a+3) (a-3)—a(a+5)= 6
Four-fifths of a number is 10

- more tha
Three consecutive integers ad g

d up to 54, Wh
Solve the linear equation : -2 2y 3
\
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thirds of the number. Find the num>=
at are the integers?






